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ABC M

MH,MK,MP H,K,P
(1) AH? +BK? +CP? = HB?+ KC? +PA?

(2) AH+BK+CP=HB+KC+PA

(DA H? +BK? +CP?
= (AM%HM?) + (BM%-KM?) + (CM2-M P)
= (AM%:MP?) + (BM?-HM?) + (CM2-KM?)
= BH* + AP + CK?
= AH? +BK? +CP? = HB*+ KC? +PA?

@ @
(AH?-BH?)+(BK?-CK?)+(CP* -PA?) = 0
=AB(AH-BH) + BC(BK-CK) + AC(CP-PA)

0
AB=BC=AC
AB(AH-BH)+BC(BK-CK)+AC(CP- PA)
=AB[(A H-BH)+(BK-CK)+(CP-PA)]= 0
ABZ 0
(AH-BH)+(BK-CK)+(CP-PA)= 0

AH+BK+CP = HB+KC+PA

(1) AM BM CM
2 AH2=AMZ-HM?,

BK? = BM%-KM? , CP* = CM?-PM?

= HB? = BM?-HM?,

KC? = CM%MK? ,PA%2= AM?-PM?

AH + BK® + CP

=AM?+BM? + CM2-HM?-KM2-PMm?

HB? + KC* + PA?

= BM? + CM? + AM?-HM*-M K2-PMm?

© AH? +BK? +CP? = HB?+ KC? +PA?

(2) X
AH? +BK? +CP? = HB?+ KC? +PA?
AH? +BK? +CP?

= (x-AH)? + (x-BK)? + (x-PC)?

= 3 +AH2+BK*+PC?-2x(AH+BK +PC)

= 3% = 2x(AH + BK + PC)
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= 3x = 2(AH + BK + PC) AH + BK' + CP M
3x BC MN AK" X
3x=AH+BK + PC+BH + CK + PA MX = XN N AC NP

=2(AH + BK + PC) AC P N MP NY
AH+BK+CP=HB+KC+PA MP Y
A > AXM AXN AMEH ANP
AH =" AP
y . AP=AH
H )
LK HH'=P'P” FP'=PP + P'P"=PP + HH'
5 < K C MP//NP"  NY//AC=YN = PP’

MP//BP MN//BC  MYN
NMY = CBP =30°

YN = 1 MN =MX PP’=MX

2
(1) MK//AK  MN//BC
AMZ2= AH? + MH? =PA2+ MP? _ ®  oMX=KK’ KK’ =PP’ =PP + HH’
BM2 = BK? + MK? = HB? + MH* @ PP’ +HH — KK'=0
CM*=CP*+ MP =KC*+MK* __ @ AH+BK+CP=HB+K C+PA
O+0+0

= AH? + MH? + BK? + MK? + CP2 + MP
=PA?+ MP + HB? + MH? + KC?* + MK?
= AH? +BK? +CP? = HB*+ KC? +PA?
2 ABC
AK',BP ,CH K ,P, H

70

AH + BK + CP
53
=AH +H'H+BK' — K'K+CP' +P'P
5.76
= AH'+BK’ +CP' + (HH + PP — K'K)
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N A
B C
82 35 21 N
A B C
Al XqWq | XoW1 | X3W, N NW,
B| Y\W5 | YaW5 | YaW, N NW,
C| Z1W3 | Z,W3 | Z3W3 N NW 3
82 35 21 138
S N(W; +W+W3)=138 , N 2(
)
=>N=2,3,6,23,46,69, 138
® | O ® | ® |6 ® @
N 2 3 6 23| 46 | 69 | 138
W+Wo+W5 | 69 | 46 | 23 6 3 2 1
W; Wz W; W>Wo>W4
Wit Wt W; 62 OO

® N=2, W;+W,+W3=69

N=2

Wy

@ N=3, W,+W,+W3=46

X]_:l, Y]_:l,Z]_:l ,

X1:2 y Y]_:l , 21:l y

W1:36

=236>35 -

W3 =W +W3=82 -

Wi+Wo+W3=82 - —

2W1+W2+W3:82 =

-42 -

X1=1,Y,=0,Z;=1, W+W3=82 _
X1=2,Y:=0,Z,=1,  2W;+W3=82
= Wi— W,=36, W,=4 , W5=2, W,=40
240>35 -
X1=1,Y1=1,Z:;=2,  W;+W,+2W3=82 =
W;=36 = 36521 -
X172, i=1, =2,  2Wy+W,+2W45=82
= W;+W3=36,W,=10,9 W3 1
235 W; 27,
= 19<21 -
X1=1,Y:=0,2,=2,  W;+2W3=82
D Wa— Wy=36( W,>W3) - «
X1=2,Y1=0,Z,=2,  2W;+2W;=82
> Wi+Ws=41,W,=5,4 W3 1
240 W; 37,
= 37535 -
® N=6, W 1+W+W3=23
(W1,W3,W5)
(20,2,1),(19,3,1),(18,4,1),(18,3,2),(17,5,1),
(17,4,2),(16,6,1),(16,5,2),(16,4,3),(15,7,1),
(15,6,2),(15,5,3),(14,8,1),(14,7,2),(14,6,3),
(14,5,4),(13,9,1)(13,8,2),(13,7,3),(13,6,4),
(12,10,1),(12,9,2),(12,8,3),(12,7,4),(12,6,5),
(11,10,2),(11,9,3),(11,8,4),(11,7,5),(10,9,4),
(10,8,5),(10,7,6),(9,8,6)
(16,5,2)

5A1C 1A3B2C
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@ N=23, W1+W,+W3=6
Wi+Wo+Ws3=6 W >Wo>W3
W1=3,W,=2, W3=1
A 3(X1+X2+X3)=23,

X1+ X2+ X3) -«

(W1,W2,W3)=(16,5,2)

7
3.86
912204
Xy Xy X3 Xn1 X -1
2 n

X+ X+ X3+ +Xjp2+Xp1+Xp=91
X224 X224 X2+ + X024 X1 2+ X 2=2002
XHX%+ +Xn X,

D

@)

X1+ Xo+ X3+ +Xp2+Xp1+Xp=92

(@D)] A -1,B 0,C 1,D 2,ABCD

X345+ +X,.15+X,2=8D+C-A

= 2D+C-A=91, 4D+C+A=2002

2093

= 6D+2C=2093 = 3D+C = 5

= CD ,

(2) (1)  2D+C-A=92, 4D+C+A=2002

= 6D+2C=2093 = 3D+C=1047

C
= D=349 - 3 CD
2>13 2 X 34X3+
"'Xn-:L?"*'Xn3

= C=0, D=349 A=606
8D+C-A=2792+0-606=2186____
2 X 34X+
X+,

= D=0 C-A=92, C+A=2002 C=1047,
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A=955, C-A=92

3.60

912205

15

2

"/

PO P]_ P2 Pn- Pn
Qo Q1 Q2 Qr QO Q,
n an
a1 Po— Pl - -
Po— Q1 - X —> 3
Po— Qo - | |
A Po— Py P, -~ |

P— Q1 + ‘ - X | -3
Po— Qo Q@ - |||

PP P—P - |

+ P—Q - | X 2

Q P—=Q
—> 5
an Po PL Q@ Q
1. P P Qo Qu
an-2
2 P Q an-1
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Po

an-2

=5

=3 &

an-1+280.2

an

Sx"+tx"

=0-x=-1,2

X+2 — X¥— X— 2=0 (x+1)(x— 2)

=

s@r+t()t=3

s(2?+1t(-1?=5

912201|912202|912203|912204 (912205
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